.     Bootstrapping    .
We


?

.     The Effect of Sample Size    .
The width of the confidence interval depends of three things
1) The level of confidence. We will be working with 95% confidence intervals but we can have different levels of confidence. To be more sure (eg a 99%) the confidence interval would have to be wider

2) The spread of the population and sample. If the IQR is large then the confidence interval will be wider

3) The sample size. If our sample size is larger then it is more representative of the population, and so our confidence interval will be narrower. Note the [image: image1.png]


 
To halve the confidence interval we need to take a sample 4x as large

What of we can only take a small sample size?
Eg sampling % fat content of pies, or brain weight of dogs

We can use the Bootstrapping re-sampling method to generate a confidence interval

This involves repeated re-sample from a sample with replacement, and repeated many times to form a distribution. This is used to make the confidence interval































































































































































